

Int test: 2
solution.

Odd Roll Nos.

$$\textcircled{1} \quad L^{-1} \left[\frac{s+2}{s^2+4s+13} \right] = L^{-1} \left[\frac{s+2}{s^2+4s+4+9} \right]$$

$$= L^{-1} \left[\frac{s+2}{(s+2)^2+3^2} \right] \quad (2)$$

By FST put $s \rightarrow s-2$

$$= e^{-2t} L^{-1} \left[\frac{s}{s^2+3^2} \right] \quad (2)$$

$$= e^{-2t} \cos 3t \quad (2)$$

$$\textcircled{2} \quad L^{-1} \left[\frac{s^2+2s+3}{(s^2+2s+2)(s^2+2s+5)} \right]$$

$$\frac{s^2+2s+3}{(s^2+2s+2)(s^2+2s+5)} = \frac{x+3}{(x+2)(x+5)}$$

$$\text{put } s^2+2s = x$$

$$= \frac{A}{x+2} + \frac{B}{x+5}$$

$$A(x+5) + B(x+2) = x+3$$

$$\text{put } x = -5$$

$$B(-3) = -2 \Rightarrow B = 2/3$$

$$x = -2$$

$$A(3) = 1 \Rightarrow A = 1/3$$

$$= \frac{1}{3} \cdot \frac{1}{x+2} + \frac{2}{3} \cdot \frac{1}{x+5}$$

$$= \frac{1}{3} \cdot \frac{1}{s^2+2s+2} + \frac{2}{3} \cdot \frac{1}{s^2+2s+5}$$

$$= \frac{1}{3} \cdot \frac{1}{[(s+1)^2+1]} + \frac{2}{3} \cdot \frac{1}{[(s+1)^2+2^2]}$$

$$\mathcal{L}^{-1} \left[\frac{s^2 + 2s + 3}{(s^2 + 2s + 2)(s^2 + 2s + 5)} \right] =$$

$$\frac{1}{3} \mathcal{L}^{-1} \left[\frac{1}{(s+1)^2 + 1} \right] + \frac{2}{3} \mathcal{L}^{-1} \left[\frac{1}{(s+1)^2 + 2^2} \right]$$

Using F.T.

is

$$= \frac{1}{3} e^{-t} \mathcal{L}^{-1} \left[\frac{1}{s^2 + 1} \right] + \frac{2}{3} e^{-t} \mathcal{L}^{-1} \left[\frac{1}{s^2 + 2^2} \right]$$

$$= \frac{1}{3} e^{-t} \cdot \sin t + \frac{2}{3} e^{-t} \cdot \frac{1}{2} \sin 2t$$

$$= \frac{1}{3} e^{-t} [\sin t + \sin 2t]$$

$$(3) \mathcal{L}^{-1} \left[\frac{s}{(s^2 + 4)(s^2 + 9)} \right] \quad \text{using convolution thm}$$

$$\phi_1(s) = \frac{1}{s^2 + 4}; \quad \phi_2(s) = \frac{s}{s^2 + 9}$$

$$\mathcal{L}^{-1}[\phi_1(s)] = \frac{1}{2} \sin 2t = f_1(t)$$

$$\mathcal{L}^{-1}[\phi_2(s)] = \cos 3t = f_2(t)$$

$$\mathcal{L}^{-1}[\phi_1(s) \cdot \phi_2(s)] = f_1(t) * f_2(t)$$

$$= \int_0^t f_1(u) \cdot f_2(t-u) du$$

$$= \int_0^t \frac{1}{2} \sin 2u \cdot \cos 3(t-u) du$$

$$= \frac{1}{4} \int_0^t \sin(2u + 3t - 3u) + \sin(2u - 3t + 3u) du$$

$$= \frac{1}{4} \int_0^t \sin(3t - u) + \sin(5u - 3t) du$$

$$\begin{aligned}
 &= \frac{1}{4} \left[-\cos(3t-4)(-1) + \cos\left(\frac{54-3t}{5}\right)(4) \right] \\
 &= \frac{1}{4} \left[(\cos 2t - \frac{\cos 2t}{5}) - (\cos(3t) - \frac{\cos 3t}{5}) \right] \\
 &= \frac{1}{4} \left[\frac{4 \cos 2t}{5} - \frac{4 \cos 3t}{5} \right] \\
 &= \frac{1}{5} [\cos 2t - \cos 3t]
 \end{aligned}$$

Qut 2 (Even Roll Nos.)
Solution.

① $L^{-1} \left[\frac{2s}{(2s-1)^2} \right]$

$$L^{-1} \left[\frac{2s}{(2s-1)^2} \right] = L^{-1} \left[\frac{2s}{4(s-\frac{1}{2})^2} \right] \quad (1)$$

Using FST, $s \rightarrow s + \frac{1}{2}$

$$= e^{\frac{1}{2}t} L^{-1} \left[\frac{2(s+\frac{1}{2})}{4s^2} \right] \quad (1)$$

$$= \frac{e^{\frac{t}{2}}}{2} L^{-1} \left[\frac{1}{s} + \frac{1}{s^2} \right]$$

$$= \frac{e^{\frac{t}{2}}}{2} \left[L^{-1} \left[\frac{1}{s} \right] + L^{-1} \left[\frac{1}{s^2} \right] \right] \quad (2)$$

$$= \frac{e^{\frac{t}{2}}}{2} \left[1 + \frac{t}{2} \right] \quad (2)$$

(2) Find $L^{-1} \left[\frac{s^2}{s^4 + 9s^2 + 20} \right]$

$$\frac{s^2}{(s^2+5)(s^2+4)} = \frac{x}{(x+5)(x+4)} = \frac{A}{x+5} + \frac{B}{x+4} \quad (1)$$

Let $s^2 = x$

$$A(x+4) + B(x+5) = x$$

$$x = -4 \quad B(1) = -4 \Rightarrow B = -4$$

$$x = -5 \quad A(-1) = -5 \Rightarrow A = 5$$

$$\frac{s^2}{(s^2+5)(s^2+4)} = \frac{5}{s^2+5} - \frac{4}{s^2+4} \quad (1)$$

$$L^{-1} \left[\frac{s^2}{(s^2+5)(s^2+4)} \right] = 5 L^{-1} \left[\frac{1}{s^2+5} \right] - 4 L^{-1} \left[\frac{1}{s^2+4} \right] \quad [3]$$

$$= 5 \cdot \frac{1}{\sqrt{5}} \sin \sqrt{5} t - 4 \cdot \frac{1}{2} \sin 2t$$

$$= \sqrt{5} \sin \sqrt{5} t - 2 \sin 2t. \quad [2]$$

(3) $L^{-1} \left[\frac{s^2 + 5}{(s^2+1)(s^2+2s+2)} \right]$

$$\frac{s^2 + 5}{(s^2+1)(s^2+2s+2)} = \frac{s(s+1)}{(s^2+1)((s+1)^2+1)} = \phi_1(s) \cdot \phi_2(u)$$

$$\text{Let } \phi_1(s) = \frac{s}{s^2+1} \quad ; \quad \phi_2(s) = \frac{s+1}{(s+1)^2+1} \quad (1)$$

$$L^{-1}[\phi_1(s)] = \cos t \quad ; \quad L^{-1}[\phi_2(s)] = e^{-t} \cdot \cos t$$

$= f_1(t)$ (2)

PAGE NO.
 DATE / /

$$\mathcal{L}^{-1}[\Phi_1(s)\Phi_2(s)] = f_1(t) * f_2(t)$$

$$= \int_0^t f_1(u) \cdot f_2(t-u) du \quad (1)$$

$$= \int_0^t f_1(t-u) \cdot f_2(u) du$$

$$= \frac{1}{2} \int_0^t 2 \cos(t-u) \cdot e^{-u} \cdot \cos u du$$

$$= \frac{1}{2} \int_0^t [\cos((t-u)+u) + \cos(t-u-u)] e^{-u} du$$

$$= \frac{1}{2} \left\{ \int_0^t e^{-u} [\cos t] du + \int_0^t e^{-u} \cos(t-2u) du \right\} \quad (2)$$

$$= \frac{1}{2} \cos t \left[\frac{e^{-u}}{-1} \right]_0^t + \left[\frac{e^{-u}}{1^2+2^2} (-\cos(t-2u) + (-2) \sin(t-2u)) \right]_0^t$$

$$= -\frac{1}{2} \cos t [e^{-t} - 1] + \frac{-e^{-t}}{5} (\cos t - 2 \sin t)$$

$$+ \frac{1}{5} (\cos t + \sin t)$$

(2)